<ojofoflf| 3l dA]>

A

L. offef] sfd 52 21382 #1et AR

LI

o

PHsE AR 8 ofB= 2] £.2 J|EE|gtout, ofe] ol §2 FAIC A & 4 Sk A
SUGH 2202 T4 ofzlo] ol oRisleiTt. A7 R 0] SRSt ofe] B0 ofalo]

< st
=0] feHd, ofdolsol o S A A0 2 Fofste ozt 2 4 ot 4§32 7t st
A Y AS R A, 2 g Ew] 2ol ofdoloElof] Sl 22 4 A AlFE = ol
of Au-S st AuS AHIE 4 At

Al el =2 Yol GoiH G ufAsit. ofRdo] ofel= 2 wejuict thet FAIS
2L 17100, offelw-=-0] AR of|Af 0} £ ofjafLAS Al oot Yrsilty. 3.1 & HRio] Sl
of2AEES ool 9%, AU, 55 59 oAM= ot HiRlst of 253t st ofui
2 2 UEF =T 0| S5 2 3125 FA of ol S B3 H AhEolt, ofolfH7to]
ARE T . AlEEe RS 099 2 AdHste] =2 £ ofdolofuE & o thst
Al o)L Ao h=7] So2 YA S ofaL, o 2ofHl s Ao Qe YAl E aLsto
ofjsfegolut SEUY 5= 4 Aot

AR YolA> AL ARSI BAIH F5 50 s oA shpdAT HRBe ©



3) &)Y 7= A &MY T

201 2H g0l 24094 50 Hle] AR08 7K A Gl A Sop Rl
§410] 229 Sl 502 A o Sl £A19) 7123 St sioik. o Tf 89 TEL 47
o] 9 sHLFEO] W0 2 Seizojo} dlct. JRALL ofshAIate) A5 SAtolc:

4) 3ogl 319F <AFENEE 24734

o} ofefo] s oA 2 4 9l 2RI, o] e QN5 YshA oFETHE 92t o K]
AR Ho0l710] A 10l 217 RHolch, o H e B 5155 AY
ool = 5t B3to) & 5o A2 AR 3T Ago]7| 2 sk, oflo] AerhE 9t
202 JAstel, Sejol ol2cte Uets 241 shide Ak 4 e sjgic,

5) A7 Q7] <oJAtoF 10:12-21, 2OFA 8:1-11, Q5H-S 7:25-26>

N7 oy BAS TEth A WA BEd 1Y 2 YT 51l 282 £
=O| QT ofAfoF 1070l A EHSh -20] 4L, = K U5 S¥T T1lvd EQY ==ollE
20 84olth. 5549 Ba2 S5 S0 YR S5 84 ol FHof T3l oJAfof
10:12-212t M 2 -2 o] R FgA o]t} 20bA 80| S5H 511w 0|2 Ewol2h= At
A2 3.12E GA o= 71 50Rl 59 o], et Tk oA = S Q1T shhg o] ddofol] 712

ofal 52 Holett

>

6)

11 <0

o
rlo

BTN

u

A
=

2 of|A] 1S AJ2E oJulR}2 A 105k 2251910 Ak & 2 Bt

El

7)

of

rok

5 <o & otsofl HA(5827)>

19699 £ £9] 3.14 7|\ @0 & =3 4
A=71o]| ool TS0l Al L2tet T1E9] HAMA A S T2 5.0 2 o)} 7]},

i)
ozt
ra
N
N
)
R
b
=
>
M
re
r
OLI:Z

93] et ALt}



Y9

St

of| cf

SolU S5+t

A=A}

2
=

SRR

[0}

= 71 M

|

il ofdo] 0] 3.1e-59] 7154

_8%}\ s}oksl

o A 3.1

S
.

i o]
XAol}, ofg

A
A

S

£ O &
o= ©

Ple

U9 war} 2 w5

A L
T T

§‘<O_I

227U} ofglo] FAT) 540

ARJES0l 7}

101

A,

A= it
= 01

AA

557

=Xk

10) L=t

T2 AN 4 A ool =

o =
—-— O
.

s} Ab]o] |2

o
“

oA 5] WetE Ut ot

O T 0
To= o

1

At 2 9leg o}

3.

sick

QolA] 7]

O o
a4



